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Number of Questions : 20
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is

given As!

[\ is the radioactive decay constant]

Options :
) —de M

2. he™M

o Ml—™
, —=xll—e™™

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
R o

2, he ™M

, Al—e™M
e

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.

, the distance between consecutive fringes will increase.

3 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4.

Question Type : MCQ Is Question Mandatory : No Qcollegeduniaé



Correct Marks : 4 Wrong Marks : 1
el k- g, Lo, Mt G 5 (orange) 4l el el (blue) st 24t
Options :

. il dlacu aa .
, S5 sl R iR 44 ©.
, S0 sl R 2R e ©.

4 e UsLRLA st pusEld A 9.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options:

3.33x107 m/s

1
, 4.33x107 m/s

, 5.33x107 m/s

107
4 2.33x10° m/s

Question Type : MCQ Is Question Mandatory : No Qcollegeduniag



Correct Marks : 4 Wrong Marks : 1
el 2rda wrlelellel (aseielady) 81 9. dul ustadl ol ¢l

(Be=1)

Options :

, 3.33x107 m/s

7

, 4.33x10" m/s
7

3 0:33x10” m/s

7
4 2.33x107 m/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R=1000

. WW

100V T C=1uF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 (.. The time taken for the capacitor to be charged to get 50 Vis :

[Take In 2=0,69]
Options :
; 0.69x107 %5

, 0.30x10™%s

,
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;3 1.44x107 % s

4 BA3XI0 s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R=1000
N WW

100 V4 7 C=1F

2 el a5l C=1 F © i 100 el el 48 R=100 0 45 21554 (suddlenly) adsetdi
w4 9, e ol eies 50 V el vt uel

[In 2=0,69 @]
Options:

;. 0.69x107 %5
, 0.30x10 %5

3 1.44x10 % s

4 3.33%x107 %5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source

22
voltage are respectively. [Take 7 as 7]

Options :

8.8 A and tan_l[%)

1.

0.88 A and tan ! [EJ
2. 6

88 A and tan_l[%)

3.

1( 6
8.8 A and tan aaile
an [11)

4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
245 0,07 H o 9] (8rs42) 24 12 00 212l 220 V, 50 Hz AL ac G4 4 Al adset 41

. e Hos 24 G cledsy 9423 s gl e 4t Ak &,

2,
[n= - 4.

Options :

8.8 A i tan_l(%)
1.

,
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0.88 A 24+ tan ! [EJ
2. 6

88 A 2 tan! [L;J

3.

8.8 A 2 tan_l(EJ
4, 11

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel is kept on a horizontal surface. Area of base is A. A hole of cross-
sectional area ‘a’ is made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options :
d

1. A
2a

2. A
A

3. 2a Qcollegeduniag



4. None of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
248 sl A1 oA A e uic] GuR et 2ed 8. detl dlAiel 21898 A 9. dell dlae
2RI a s/0q A5 HAs HaLd 245 (195 ettt 2 8. (ol Wl dadlt sRel

impact AL $REL YA 4 Ml vl ey als €l (a<< A).

Options :

a
‘I.A

5 2niEl 2isvel 8l

Question Type : MCQ Is Question Mandatory : No )
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Correct Marks : 4 Wrong Marks : 1
In the given figure, a battery of emf E is connected across a conductor PQ of length ' and

different area of cross-sections having radii r, and 1, (r, <,).

=
"

——
Ry

E

-~

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

> Electron current decreases.
3 Electric field decreases.

" All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e Wne, E ofeg) emf Gl deale 1 At A e 2ty (ry < ry) Bloddl R0l ol
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=
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E X

g4l A0 P Ul Q v e el Gy s 8 :

Options :

| Bagglrdl $lge AL Al ©.
, BASYIA WAl L ©.
, [gagaae .

4 ClEl

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of

dielectric constant K. The potential difference across the capacitors will now be :
Options :
\%

1. K
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2. K
\%

. K+2
3V

. K+2

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2C 24 C et elsset il A sl it kS| V Vel (eleutl] [grentec sl e

8, et g 5¢1 C aleset e Beteard K ol el S8yl el i Miewe] el wol gl
ad 8, o AelRsle Ak (UM sttt )

Options :

3V
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)

GGG

K| 3K XK
<—d—><—2d->¢—3d->
Options:
25 KEDA
1. 6 d

15 KegA
, 34 d

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl 2Uglenl, i g eneaell vlolell o2l Sladeegls (et elovel el s 3eizs
] A4 B, 20 2l i Henased] Hetrald Y . ( e o= A Al
8,

GGG

K| 3K | X
el 203

Options :

25 KEDE:&
1 6 d

15 KegA
, 34 d

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A particle starts executing simple harmonic motion (SHM) of amplitude ‘a” and total energy

; f A . JE e an8 ¥
E. Atany mstant, its kinetic energy is I then its displacement *y/ is given by:

. . W collegedunias
Options : Q ggggggg e »



y=a
2 2

g B3
3, 2
. y=a

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 502" 54tz 2t B ofeell 4t Glod el 9 24 2l (oAt) sicle 43 50, o 48, ol
e 3B A A v
fGled 7 dud gy 48 A1y, s,

Options:

g =B
L2
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical tennis balls each having mass ‘m" and charge ‘q" are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a
small angle ‘8" with the vertical ?

Options :

2, Vb
X = q !
; [2*n'£:0mg]
{ 2 2 ]%
= 2 2
. 2mggm°g

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 'm’ o/eg 024 oleel (Beytoe it o e ool el T ettt il oS ol (gl
QS A B, ot [Relet el g Bl ot o0 el Sl ol cuk et (B i
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Options :

X = ! 5
. 2mggm°g
(g1 )8
, 2megmg
(g1 Y
; 2megmg
q2 52 %)
' 2megm>g
4, fom &

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic

gas. The temperature of the gas during the process A — Band C - D are T; and T,
(T, > T,) respectively.

P

A

5P, -+

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.

Options :
. Wee+Wpa >0

, Was<Wep

3 Was=Wnpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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25l 1 41 - ionagell oy el €8 2 il ABCDA 6404 8. WL A 5 B C 5D
Al A AR A3 T, WA T (T, > Ty 8.

0' v, 15V, 35V, 55V, V

o, M40l BC 24t DA HHIH| €4 el 12 2Areirwiol], sl [Esey e 431
Options :

. WB{C-I—WDA »{)

, Wap<Wcp

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :

1. 3 min.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

245 Ye1 61°C Ul 59C 4 sl 41 4 (el 4 0, o ALRUE( e8] i 30°C
dl et 51°C ol £ uSl 49°C et Wi il o %l

Options :

1. 3 min.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure

with mean kinetic energy 2% 107 | per molecule is :
Options :

. 0.75x 101
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, 1.5x 101
3 3104
4 16CTGH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

300 K et 24 o eliciorl el 2t 2l et e oy e 2x 1079 ule 249y el e
lod Bt 2AgAAL 3o ¢l

Options :

. 0.75x 10"

, 1.5x 10!

3 BTG

4 16XT0H

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Assertion A :
—

that |AB| = ‘BC| = ‘CD , then

—_— — - - —3 —

AB + AC + AD = 4A0 + 0B + OC

Polygon law of vector addition yields

In the light of the above statements, choose the most appropriate answer from the options

Reason R :
AB + BC + CD = AD = 2A0
A—  p
B C
given below :
Options :

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It A, B, C, D are four points on a semi-circular arc with centre at ‘0" such

Both A and R are correct and R is the correct explanation of A.

,
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—_— — —

A olA,B,C DA agnbeg 0/ vk Bl sk § 3ol |B| = [BC| = (D] dt

—_ = = — — —

dl AB + AC + AD = 4A0 + 0B + OC

—_— = — — —

s R s “esiorl (4 AB + BC + CD = AD = 240 N,

Gualst (Settiet] asoiul, o2 24l (ese Ul el gt Aoy e wais 481
Options:

, Gl A A R URES A R 2L A Al 2412l 2434sv8L 2410 9.

L Gl A AR WAL S YELR 2L A -l el wusvel 2ung -l
s :
, AAE O YCLR A -l

, Ar el MRl R WY ©.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options:
1 2R x?

5 R2 : 12

3 OR% . 14

4 215 R%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T

245{d 25 R 2t ool Plovat st o et el G149, o Gl M0 W Bt el £ Lt
el AB 246 (5 o ettt otttel e 24 el il et et 2t 41 el MT 24 el
HAM] 2 510 ALl Al At el M ol 230l Sl L) WL it £ M A4 .
(M1 24 orgectd, st 444 6.

A

)

Options :
1 2R%; 12

3 2R4 . ¢4
4 2rt . R4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Wil -1 Wl - 11
(a) (0 W MT (et L, & M, #(0wie do 24t i) 8MLY3
WOt et ol A 21434

(b) 0 Mg MI (6t L, £ 2M, 4ol 4 24t i) ML2/3
514 215 vicq(Cigiel] g adl 2 2i43y)

()l g MI (et 2L, £ M, 4 4 24 (i) ML3/12
WGt iall i ] el 2t

(d) (O W MT (ot 2L, 0 2M, 4 4t 819 (iv) 2ML%/3
s {4 U iall ik Al 248 Al

of|2d 24t (Sseuiuial Hial (Gsey el 4l :

Options :

, (@)-(iii), (b)-(iv), (0)-(1), (d)-(i1)
, (@)-(iit), (b)-(iv), (c)-(i), (d)-(1)
5. (@)-(i), (b)-(1), (c)~(iid), (d)-(iv)

5, (@)-(i), (b)-(ii), (c)-(i), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et el 3l Gt A9t gl A, B 2t C o 2ds el sl a0 8, A, B C Ll
g m, 2m 24 2m 8, A 2L Bl g 9 my/s ol o 29 ol el e (R 2 et 62 6,
el B 24 C e el 2(laens tsust st 8, el or Al it el i el 50

9. dl C ol »il 2l ¢l
A B C
m| [2m| [2m

Options :

6m/s

1

,
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aball is thrown up with a certain velocity so that it reaches a height 'h'. Find the ratio of the

h
two different times of the ball reaching 5 in both the directions,

Options :

V3 -2
. N3 +A2

3 =1
, B3 +1

w
W=

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag



afg ol Al 012l 62 s sl e B & el o N Glaudol weld . ofel (Eauag 4L %ﬂ

e e o oLyl 2t 9l 906 )

Options :

V3 -2
. N3 +A2

>

]

N
>
+
p—t

W=

41

X o]
2 4]

&

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is 5 mm and there are 50 total divisions on

circular scale, then least count is 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

,
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: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct and R is NOT the correct explanation of A.

A is correct but R is not correct.

w

A is not correct but R is correct.

N

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S A ol AU B Rt N Y G M g vt Y B S 20 5 mm ® 24t
gl 56 4 4 404 50 G ol g M e 0001 em 8.

W

AR qgrunn el = —
A MIsR ¥ Wl 44 S

Gualse [eriel ol Lo 2ka Gsenl Nl Al dioy ot yais 481

Options :

, G A AR WALD A R VA o U A0 52 8.

, Gl APA R URALS A R 2L A o W i 53 edl.
D s ;

, AdE O QLR A el

, A il vel R 0 ©.
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Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

-
-

8R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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24 5{c] L PHLGL ELRLS R 2l 2 R Cloraloaled WL 2t M 24l 9 M 60 el o 3 (25081
15R) A beg?ll 5 4220] 20k 8 R B, 245 ‘m’ £ G o e 5 M8 el 2] Gl
e ot 306 g, e R R 2 8, Bl o el 2] el et e vl e

A7 3 ; % Bela’ |y ¢l

[ 4] 2461 et 20 2 o5t ) oM 2404 ]

8R

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 X 10 -2 A/ m?

and moment of inertia 5% 10~ kg m®, If it performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT, [Take 7 as 9.83]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes Qcollegeduma



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

oL 3nst s, s Yousl el Jeasl gme 985 %1072 A/m? i el usid
51070 kg m? 8, of 5 el 10 Yol clatl 62l 4hsld ot e mT %
(=98 dl]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 1070 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

oune’s modulus of rubber=05x10° N/m?
&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText Qﬁﬂ!ﬁﬁfﬁﬂﬂfj



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.1 m el 24 106 m? oleg] 2AL58Yee Abtsn titetl 215 3ot Plald 4R 20 g ofl 215 422
0,04 m Vel WAt 5] 2409 B, WA 2 o oL S m/s 4.

(sof2 ML ¥ Myt =05x10° N/m?)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transistor is connected in common emitter circuit configuration, the collector supply voltage
is 10V and the voltage drop across a resistor of 1000 € in the collector circuitis 0.6 V. If the
current gain factor (B) is 24, then the base currentis  pA. (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1 Qcollegedunia;



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
24s gleslagae st 2len HRUel sdSeliMi Hd B, 5452 dlsy 10 V 2 5452 yRuan g
1000 € oAl Al HHickk dleey 0.6 V 8. o Ul alot (B) 24 ¢4, Al b YAl "
44, (A5 YU Al

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

-14 14
10.8><210 and 1y = 145 + 18x10
A

m =12+ Az

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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n, ettt 248 Dot m, sttt 2] ot Dol (a1l st o) lenst
AL B, A 1y 20 ALt e R A4, i 2 st cldend o,

-14 -4
: 8 X
108x10 " o ny =145+ 18x10
\2 %

1'11 =12+

BC ity 4R 4151 Gl 2l (53815 o it APLA el AL Rk YR U ool o

nm é%\l.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle of mass 9.1x 10" kg travels in a meditm with a speed of 106 m/s and a photon
of a radiation of linear momentum 10=% kg m/s travels in vacuum. The wavelength of

photon is times the wavelength of the particle.

Response Type : Numeric

,
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9.1x 1031 kg £ 4a1aq 50 2As Ml 100 m/s ol Aoyl 24 2ls [Albemi glel

5

10 kg my/s ot ¥l bl yrctstarhl AR &9, 01l Lot sl sl céordond

gl ¢l
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 pF is first charged and later connected with resistor ‘R, If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of ‘R’ should
be (L

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

;
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 34[al A5 Pheletl HE50RL ett £1050 ms ) 24 L 4 4 B, 200 wF Helksel Lt 24
sl 30, (Btoulfet 520w 'R otcle A odgel il 24 B, ks et (g 24 2l
24800 (et 2A[8010L ()L el e 8 2 2l et ol R o e 0

¢

Response Type : Numeric

L

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Boht's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A
If the speed of electron is 2.2 109 m//s, then the current associated with the electron will be

2
X102 mA. [Take 7 as ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

:
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Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5

ARl H10] e, Dl 05 A Bt bttt i s8HL G4GL 3l ARt e B,
Jalsglotll 364 22100 m/s €l ol Sesglel U2 Hsquld vl x1072 mA 44l

£y
[7 = - L]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Consider an electrical circuit containing a two way switch S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T,isconnected to Tyis V. (Round off to the Nearest
Integer)

R=60 T

[ 1

2, .T3
S1T,
L

q |0

3()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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R

-l 01 4Rl 248 (gt wfew el wsopnl S vl § e WL T, A T, WAl sdSPie .
6741 R=6 () AR 1AL M6 ot (e (Lo et e 4Rt 2 4 T, A T, gl s e,
el e of T, HIA od A A B, T, o T, 1A s el et of 15 =3 () Aol it (Uit
Vol (s el )

R=60 T
— 2
L

= r=3()
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The amplitude of upper and lower side bands of A.M. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

a a
5 V amplitude are EV and EV respectively. Then the value of N is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal )
Qcollegedunlag



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

11.21 MHz A9 {aei 245 15 V ol 4 (peak) clecovainl 5l (ol 7.7 kHz ot (4
B8tietl) 24t 5V §ulelieli 1l ool a8 Suldeetd 2B setl, AM (5ulekat AMMC)

: b ", n * N a b
A6 upper A A 4 lower A g AL skt gl oV o el . 7 " e

.

Yl
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Chemistry Section A

SectionId : 864351826
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80
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Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Sub-Section Number : 1
Sub-Section Id : 8643511053
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, p=12,
y=90°. The crystal system of the substance is :

Options :

1. Triclinic

5 I—Iexag(}nal

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g YEUA] A0 510l HOUES 2 =25, D=3.0, c=40, a=90° p=120°, y=90° ¥, &l wscls
youdl

Options :

. glsdl-ls

, ¢s3ldliAd

;
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4 Hirisdl-ls

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom,

Statement IT:  Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty

principle,

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
1. Both statement I and statement II are true.
> Both statement I and statement II are false.

3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ell2 o (el 244 8.

[ T 3RSt et wetelel oL, gl Lol ¥t ol sl sl 2l
e T uloret Wil ol el totors] oA (APt (el viset 84 6,
Guartl (et ieotul, 124 el eseuiial ekl sl i £31,

Options :

1 oin Qe T 2 [@sin I 1R 9.

5 ol [Asn T 24 (e 1T vlieL ©.

, [ T e R T g ©.

, A TG © el [Ren T .

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is ;
Options :

. mmll_“ Ll—n 5_1
, moll Rl Rg
3 II‘lDll_n LZnS—l

4 mc-ll_“ Ln—l S—]

,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
n sH-L MBAL UL, €2 (A0L) AN AL s
Options :

. mc-ll_“ Ll—n S—]
5. mﬂll_n Ll—n S

3 moll —n L211 5—1

4 mﬁll_n Ln—l S—]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(a) NaOH ()  Acidic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
(@) B(OH),
(e) Al(OH),

Choose the most appropriate answer from the options given below :

Options :

, @-(1), (b)-(), (¢)-(i1), (d)-(iii), (e)-(iii)

, (@)-(i), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)
chllegeduniag



5. (@)-(i), (b)-(ii), (c)-(ii), (d)-(3), (e)-(iii)

5. (@)-(11), (b)-(ii), (c)(iii), (d)-(i), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IR EETU{ | ETDENE

el - 1 Wl - 11
(a) NaOH 1) lasls
(b) Be(OH), (i) cilzs
() Ca(OH), (i)  GowoLell
(d) B(OH),

() AI(OH),

A2l 20 (aseuimisll 2418l 1o syalel YHE $3U.

Options :

, @-(1), (b)-(1), (c)-(i1), (d)-(iii), (e)-(iii)
, (@)-(1), (b)-(ii), (c)-(iii), (d)-(i), (e)-(iii)
5. (@)-(i), (b)-(ii), (c)-(ii), (d)-(3), (e)-(ii)

5, (@)-(1), (b)-(ii), (c)-(iii), (d)-(i), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No Qcollegeduniag



Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :

Options :
, provides idea about reduction of metal oxide.

5 provides idea about the reaction rate.

, provides idea about free energy change.

, provides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al 2uav (2ugla) -l Aqeeidi wig [Qai- 2Ll :
Options :

| Elg 2AsADGAL LS8 M s [AAR 210 8.

5 ML € HIL is [GRUR 2 9.

, s Glod 53512 U 215 [GAR 20U ©.

4 ML gL clgdld] 2L W s (SRR 20U 9.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The product obtained from the electrolytic oxidation of acidified sulphate solutions, is :

Options:

. HO,S0S0,H

, HO,S050,H

HO,50050,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2[Ryt Uehestl gleele (e ottt 2Alsa32A 53l el sy 2wlel -

Options :

, HO,S080,H

, HO,5050,H

HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:
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Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :

: Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3 Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al of (el AL ©, 2sel 54t A 24t ollodel 536U R A8 il 5L,
st Al el beais wgidlers uladl €4 9.
SR R: cledbn yellse sudl G Had 9.

Guetl (eatlety o, Al2 2 (dsedimisll Al 4 oft el sreiol Y 5L,
Options:

_APARGAUAS AR 2L A Al H2Ale Wyl ©.

, AR G RS, Wi R 2L A Al il dntsyel -l
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The oxidation states of ‘P in H,P,0,, H,P,O; and H,P,0,, respectively, are :
Options :

1 6,4 and b

5 5, 4.and 3
3 5, 3and 4

, 7,5 and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,P,0,, H,P,0; 2 H,P,0, Ui ‘P’ l 2Al54321 2441 24453 WL :
Options :

, 6,415

, 5,413

%
2,9 sl 4 .
3. Qcollegedunlag



, 7,526

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnCl,J*~, respectively,
are .

Options :
2D i
. d“sp” and paramagnetic
sp>d? and diamagnetic
2.

332 -
5 SP d< and paramagnetic

2 3 . P
,, 47sp” and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aslel [MnCIJ3~ o 25201 <Al M52 2t Jotsld opeied 24454 Wl
Options :

Zori B 1) 1
| d2%sp 24 2ol

, spd? i slcetsld

, SPd? i 2Agjoisl B collegedunia



, @%sp? 2 dlczotsly

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCL(NH,),|, [Ni(CO),],
[Ru(H,0),Cly] and [CoCl,(NH,),] * respectively, are :

Options :

A1, 14

, 2;0,2.2
. 21,81

L2122

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[PCL, (NH,), ], [Ni(CO), ], [Ru(FE,0),Cla] 4 [CoCL(NH,),]* tiq déletlul 4 ollds
el vl 2t Al

Options:

A1, 4,4

, 20,22

3.7 2,121 Qcollegeduniag



. 21,22

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the fc}llowing statements is NOT correct ?

Options :

, The dissolved oxygen concentration below 6 ppm inhibits fish growth
5 Eutrophication indicates that water body is polluted
3 Eutrophication leads to increase in the oxygen level in water

A Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al2L 200l (el Usl sy 25 1Rd <2l 7
Options :

o APt A1 5asret digel 6 ppm 2l 281 ¢l el 9ER 2819 6.
L UeLERUA B § sven eldl ug M ©.

o e, il Auser Al Wl qERL Ry ERL et ©.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options :

1. Seliwanoff’s test
, Barfoed test
3 Tollen's test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o 24t aalfus 5] sl 40 s Moot st Al Wleeiele (uetele) st i o

91

Options :

: AdldiAls su1el (Seliwanoff's test)
, ClRgls s1ll (Barfoed test)

2 -y suidl (Tollen’s test)

,
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, 2Ll sl (lodine test)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :
Options :

1. Rotamers
, Mirror images
3. Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sl 20918 2 S5l A3yl (u3Yl) Al
Options:

. gl (Rlead)

5 2R Ulalo{l2u
3 Oet-2llinxd

, “gasl

:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,

@ O, @
CHZ e CH CH3 = CHZ HCEC

A B C D

The correct order of stability of given carbocations is :

Options:

, D>B>C>A
, A>C>B>D
, C>A>D>B

L D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)

CH,

@ @ @
CHz = CH CH3 == CHZ HCEC

A B C D

A IUA SIAEAA Al UL A1 $H QWAL
Options: chllegeduniag



—_—

‘D>B>C>A
, B »C>B>D
., C>A>D>B

., D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Presence of which reagent will affect the reversibility of the following reaction, and change it
to a irreversible reaction :

Reversible
Options :
1 Concentrated I—IIO3

,, HOCI
, Liquid NH,

dilute HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:
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efl2l 2t Wbl ML 5 24 ol lovel Al il lctelfaeiel et 5281 2 20n0eetell Wl
ULt 584,

i

Reversible

CH, +1; CH, -1 +H]

Options :
| g HIO,

, HOCI

welldl NH,
3. :

4g HNO,
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following compounds will give orange precipitate when treated with

2 A-dinitrophenyl hydrazine ?

O
I\CH3

Options :

oK
OCH,CH,
) A collegeduna



OH

OCH,CH,
; O
T
C—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol AL loved U4l sl 245 f et -ttt otle e it st il ey

[yl )
Options:
O
I\CH3
1.
O
KD(:H;!f::ﬂ3
2.
3.

,
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OH

OCH,CHj
O
i
C—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

H-PO BH
PR A (BH;), ; P

120°C (Major Product) HyOy/ OH, H)O  (Major Product)

Consider the above reaction and idenﬁfy the Product P :
Options:

CH; OH

,
Qcollegedunlag
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i ~OH
3.
OH
f LOH
4,
Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3P04 A (BH3)2 > P
0C you oflusy HyOp/OH, HpO vy oflusy

GURLsct MlEulA ML AL, 2 sy P A 210

Options :

CH; OH

Qcollegedunla
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CH;
OH

OH

OH

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  Aniline is less basic than acetamide.

Statement I :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over
benzene ring due to resonance and hence less available to a proton.

Choose the most appropriate option :

Options:

1 Both statement I and statement II are true.

, Both statement I and statement II are false.

,
Qcollegedunlag
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3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{2 & (St AL 9,
Band 1: Al 2ABmds sl 241601 Al 6.

et 11 @Al efolove waonis] 6 adell 2acitising teisletell ad ot et 2 Hetete]
5120 oty 2404 €9 ot 51261 Mlglet W bl Guetocst A 4 o 8,

Yoy, ofe ool (s g 2L
Options :
RN CTES EXE R CUTEN | RIS

5 ol [ T 2t (B 11 vl 9.

, [ T2 e © e R T ©.

, BTV © ueL [Een T e .

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,
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Match List - I with List - II :
List - I List - II
(Drug) (Class of Drug)

(a) Furacin ()  Antibiotic

(b) Arsphenamine (ii) Tranquilizers

(c) Dimetone (i11) Antiseptic

(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :

Options :

;. (@)(iii), (b)-(1), (c)-(v), (d)-(ii)
o @-(1), (b)-(iii), (c)-(iv), (d)-(i1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(id), (b)-(iv), (0)-(i1), (d)-(1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,
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RS BTV | ETD RS

el - 1 Wl - 11
(2044 (BUHA-L 991)
(a) g1l () slamdli
(b)  2UUFAHISA (i)  Melicsl
() (el (i) MlAareiil
(d) alauu (iv)  dirafd ulalderd

ALl 9f off AUl ol YRAE S :
Options :

;. (@)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
, (@)-(@), (b)-(iii), (c)-(iv), (d)-(ii)
5. (@)(ii), (b)-(i), (c)-(iii), (d)-(iv)

;. (@)-(iii), (b)-(iv), (c)-(ii), (d)-()

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,
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(4)
The compound ‘A’ is a complementary base of

Options:

1. Guanine
, Adenine

3 Cymaine

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O

H,C | N~ *
N/KQ
h
(A)
Hqlort ‘A’ DNA 4l of+tl W5 ?d2 © d
Options

1.

in DNA strands.

5‘_‘3;

,
Qcollegedunlag
India’s largest Student Review Platfor: m



a9l (Guanine)
, 28 (Adenine)
; AR (Cytosine)

N g'%::ﬂa (Uracil)

Chemistry Section B

Section Id : 864351827
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511054
Question Shuffling Allowed : Yes

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

;
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The density of NaOH solution s 1.2 g cm ™. The molality of this solution is

(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O0:160u H:1.0u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NaOH i gltgiel ettt 12 g em ™38, il 241 gleie] W& m, (sl ylsui

26 s £2)
[ Gl s wriedu £ Na: 30w 0:160u H: 10w

Yol ttdl: 10 g em 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

;
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The difference between bond orders of CO and NO® is

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P

; . T s
CO NO@ L oY £HIS(AL dsldd E B ol 1=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
~ Where x= . (Round

. (teysetl sl 216w 2l 501

;
gcollegedunla;
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For water at 100°C and 1 bar,

Avap H—Avap U= X102 ] mol =, (Round off to the Nearest Integer)

[Use : R=831] mol 'K~ ]]

[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be

treated as an ideal gas|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100°C 24el 1 612 Y2 el e,

A H-A, U= X102 ] mol ™% (Aot yellsui 216es s 421)

“yap vap
[ Gyl 520: R=831 ] mol 1K1

[0l dl HO() 5% H,O(g) i 5 seel 1d] a1 8. el ll 5 H,0g) o 2t ety el tf 514

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

:
gcollegedunlag
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Question Type : SA



Correct Marks : 4 Wrong Marks : 0
146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242%107 bar,

The molar mass of the biopolymer i x10* ¢ mol ™%, (Round off to the Nearest
Integer)

[Use : R=0.083 L bar mol = K~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

300 K 4 146 g el 100 mL wellal 2o 44 © of 24210~ bar 243 6ot
gl ), sl e e X104 g mol =19, (st Yol G s )

[ Gt 521 R=0.083 L bar mol ' K~!]
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Qcollegedunia;
Correct Marks : 4 Wrong Marks : 0 o "~ TR .



PCl, = PCL#ClL, K =1.844

3.0 moles of PC15 1s introduced in a 1L closed reaction vessel at 380 K. The number of moles

1073, (Round off to the Nearest Integer)

of PCl; at equilibriumis
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCIS'.— PC13+ CL_, KC=1.844

PCl, tl 3.0 ¥l 1 L ofl & WeHi 380 K 24 504d 2l 204 9. gl PCL AL W] v
X073, (sl s UG iy K1)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

;
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The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20x10™Sem ™, If

A{;n(HA):1908{21‘112 mol™!, the ionization constant (K,) of HA is equal to

X108, (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0,001 mol L~ #tigeieten 245 (<4 2A4¢ HA ol digstl 20x10755 em =1 6. o
A (HA) =190 S cm® mol ™ ¢4 dl, HA «l 2tiells2gt »4als (K ) = x1076

(295t yullsi 216 25 52))
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

;
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CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equation is x10~2 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
CO, ot o sl (sleat) w2 2A[Anet ol AMuNet Hen] A Az . sladid 24s Ay
o2l GWR, od CO, o £U8L o] Rl 24 dl CO, o & 64 A9 a4 Al 44 99, sl
2{(tiLeL el llsel n o Y x 10729, (5l yolisui A6e s 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in
trioxalatochromate (III) is Y. Then the value of X+Y is .

Qcollegedunla
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g 21t gl lsletiee, (1) W dotet Gllldls ueicsied] sval X 6 24 gtisadlsine (111) A

YO dX+Ydyd 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In gaseous triethyl amme the “~C-N-C-" bond angle is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

degree.

;
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A o4 SIS AU Y~ C-N-C-" o8 YLl 24 9.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine.
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the
Nearest Integer)

(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

;
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Correct Marks : 4 Wrong Marks : 0
2y 4ol ddlort] ltle 5.0 g sllelet o8 el dlloret A 4L 6, ol et A 05 g o
AgNO, (Bl weAla) ol it a5l 2414 9 e o 03849 g AgCl A ® L dloret A 3

stldltel]. 24141 . (ot Yol G 2l )

(wonglle & Ag 24 Cl ol 24 10787 2 35,5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
SectionId: 864351828
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511055
Question Shuffling Allowed : Yes
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes
through origin O. 1f OC is perpendicular to both the line segments CP and CQ), then the
set{P, Q} is equal to :

Options :

A(2+242,3+45), (2-242,3 - \5)]

, (2 +242,3-45), (2-242,3 +5)]

; (=15), 6, D)

. (@0, 0 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fL 5 C(2, 3) gt et Gorufotg O iel e utl oo e o (e (tgll P Q 20l 8, o OC

o o S CP U CQ AL et €, Lo P Q)=

Options :

 {(2+242, 3 +45), (2-242,3 - 5))

N {(2+2v2,3-5), (2-242, 3 +5)]

L (=15, 6, 1)

, 14,0, (0, 6)

:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—¥ A A A — A A A
leta=1i+j+2kand b =—-i +2j +3k. Then the vector product

(;+§)x ((;x ((;—g)x g))x E) is equal to :

Options :
A A A
1 5(30:‘ -5 +7k

s M Y
5 05 =857k

A At M,
, 5(34:‘ ~5] +3k)

A At M,
. ?(34:‘ ~5j +3k)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M

iy A A 2 A A A
URLS a =i+ j +2k 2l b =—i +2 +3k. dl ulE2LeUsR

2+ Delz < 17 - 25 2l ) =

Options :

A A A
: o\ —Bf + 7k gcollegeduniag



A M M
5 2\ =By +7k

A A A)

; 5(34:‘ ~5j +3k

A A A
A 7\341 —5j +3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of 1’ in (xz - bi] and 17 in [:c - bl—z] b # 0, are equal, then the
. X e

value of b is equal to :

Options :

. — 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;
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11 1

b ' % 1 ' A N N M

o (xz + bl] o |l (x - ﬁ] , b0 UL ol MEQls 4l 6, dl b o Y
. X )

9,

Options :

. — 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

<x<?2

R =1(x, y) : max{0, log.x} < y < 27, %

is, a(log,2) ~! +B(log,2) +7, then the value of (a+p - 2v)? is equal to :

Options :
1.1

:
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1
2

alfid a R = {(x, y) :max{0, logx} s y < 2%, — < x <2

] 8450 aflog,2) ~1+B(log,2) +y 4, cll (ot B—2y)2 F YA

Options :
1.1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A=

equal to:

Options :
1. 2

2. 4

5".3/

1 2 .
» J. If A=1=ol+pA, 0, B eR, [ a 2x2 identity matrix, then 4(a—) is

gcollegedunla
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w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A\ 1 2 Y Y iyt b it N\
4 % A=L | A 2x23 A0S TH0 A~T=ol4BA, o, B € R @4, dl 4(a-P) =

Options:

1. 2

2. 4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point P(-1, 1) to the circle 2%+ P-2- oy+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :
1. 2

2. 4 Qcollegeduniag



5 (3v2 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(i P(~1, 1) 4l 4 a2+ 2~ 26y +6=0 W8 A el et 2 9. od 241 48lsl e
(gl A 24t B 4 gl el ot D 24 o e 2k (o5 % orell et i AB i AD ol et it

gy, ol (sl ABD o 4t 2]
Options :

1. 2

2. 4

5 (3V2 +2)

. 3(¥2 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:
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Let C be the set of all complex numbers. Let

S,={z e C| |z—3-2i*=8},

S,={z e C| Re(z) =5} and

S,={zeC||z—-Z|=8}.

Then the number of elements in S; NS, N S; is equal to :

Options :
1. 0

.. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QUL 5 C 152 AvALRAUALIRL O, QR S
S,={ze C||z—3-2i]>=8},
S,={z € C | Re(z) =5} 2

S, =fzeC| |z —Z| 28}

dlS; NS, N S, i aesidl A ®.

Options :
1. 0

,
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3 2

4 2Add

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (=1, 0, -2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options :

1.9

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RS (-1, 0 ~2) (tguied] etk U 2l #48 Hldl 2 by -2=2 L v-y-2=3 o €94 ¥4
ax+by-|-cz+8=0€9. @la+b+cj7§54{ 9,

Options :
1. 5

:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e f—
T|—

Let , B be two roots of the equation x* + 20)¢ x + (52 = 0. Then o® + B8 is equal to'

Options :
., 100
2. 10

3 20

4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: 1 1 . .
4RLS o, B oA wllsRel o + Q0)F x + B)2 =0 Al Al 6. dl of +pP=
Options :
. 100
> 10

3 20

4. 160 Qcollegedunia;



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E,f EJ — R be defined as

3a
|sinz|

(1+[siny) ,-=<x<0
flx)=" b .a=0

bl e e E T T
emt—h/thx C0<x< Z

If fis continuous at x =0, then the value of 6a +b?is equal to :

Options :
1 1+e

2. 1_e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;
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£
Jsiny]

(14 [siny) ,—chco

fir)=) b ,x=0

; T
oCotdy/cot2x 0<r< L

7

Woyof, (v e 3t A1 B, o =0 W f4eld €4, ol 6a+b? o Y4 )

Options :
1 1+e

2. 1—e

4, €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 262+ 2y2-2x -2y =1},
B={(x, y) e RXR | 4x*+ 4> —16y+7=0} and
C={(x, y) e RXR | x2+ 1> —dx -2y +5 < 12},

Then the minimum value of |r| such that A u B c Cisequal to:

. W collegedunias
Options: Q ggggggg - et "



B 4 10

, 1++/5

2 4-J10

3 +245

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i
U315

A={(x, y) e RxR | 2x2+2y>—2x -2y =1},
B={(x, y) e RXR | 4x2+ 412 —16y+7=0} i
C={(, y) e RXR | x>+y?>—4x—2y +5 < r?}.

dAlAUBc C wdddl |r| Al yrdy (ud 9.

Options :

3+ 410
1, 2

, 1++/5

2+ 10
3. 2 Qcollegeduniag



3+25

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the fu]luwing data :

6, 10, 7,13, a,12, b, 12

are 9 and % respectively, then (a—b)2 is equal to :
Options :

1. 16
2 12
3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 2ANA Wl 6, 10,7, 13, a, 12, b, 12 i Hexs 21 (G201 21453

9 a7 27 du, dl (a—b)? =
4
Options :

1. 16

:
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4, 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, {d_v} =3y + 4y, with y(0)=0.
X

2
If y[- 5 lOgQQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;
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4L y=y(x) 2L [4s¢ wils2a log, (% = 31 + 4y L G54 8, ol y(0) =0.
X

[ 2 v e
o y[- : Ioge2) = alog.2 ¢, dlad YA 9.
Options :

I}

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If sinf + cost = 3 then 16(sm(26) + cos(48) + sin(66)) is equal to :

Options :
1. 23

3 27

, =27 P collegedunia



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol sind + cosd = — @14, cll 16(sin(26) +cos(49) + sin(66)) =

s Y

Options :
1. 23

2. =23
3 27

4. —27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
LI | =

WM

:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el <l Waie sl 2-tsciel v A0 e N (20-2) 203 ol 901 ) 4 6 el o
9,

Options :

SE RN

O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunla



Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

11:c+?y+8=[] or 11x+?y—15=0

2.

3 2x—?y+29=0 or 2x—?y—?=0
11x—?’y—8=0 or 11x+?y+15=0

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(2,1) 4l (Rt st Bt -2ttt 4 Pl et et s o ot (5, 9) il e 44 8,

\ o 1 AL LA '
ot A et (601 5 gt e G Pt G e v o e

: 8 Ny . "
Ul — Cly, ol ey sl e 6 48,

V5

Options :
2x—=7y—39=0 244l 2x—-7y—-7=0
1.

, Tx+7y+8=0 A2 11x +7y—15=0

,
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3 2x—7y+29=0 244l 2x—-7y—7=0

11x—7y—8=0 4l 11x+ 7y +15=0
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :

L ~(P=Q)

.PA"‘"Q

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g (G814 (Pv Q) A (~P) = Q 2 A A ©.

Options :

, B
5 PA~Q)

L FP= Q) PA=Q

:
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2 PVvQ

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R = R be a function such that f(2)=4 and f'(2)=1. Then, the value of

260N 4f(x
[im M is equal to:
12 B

Options :
1. 4

2. 8
5. 12

4 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afld f1R - R BB} ol [0)=4 0 f)=1. d hn;"f 40 { G
1= =12
9.
Options :
1.4

2. 8

gcollegedunla



3. 12

2. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.. L 35 (@2r—1)+8n
The value of Iim — Z (2] )

noen o (2j—1) +4n SO
Options :
5 + log. [EJ
1. 2
1+ 2log., [EJ
2. 2
2 —log, [E)
3. 3
3+ 2log., [E]
3
4,
Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
. 1 (2/—-1)+8n .
lim —
I (2i —1) +4n 3 o

=1

. collegedunias
Options: g ....... gl "



5 + log. [%}

1+ 2log., [%J

2
2 —log, [—)
3. 3

3+ 2log., [%)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

ar
rr—r=
_{1[(1 + e¥05%) (gin*x + cos

4;‘()

is equal to :

Options:

. 242

ki
4

:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i

[uasd J

Options :

M1

. 242

W | =

SN

=

Section Id :

K

(1 + %) (sin*x + costy) 3 4H

Mathematics Section B

864351829

;
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Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the line,

=2 y-3 z+2
-3 2

. 1f distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

;
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LS el P (O (3,7, - 7) il et A © e

0 = 1 T o
gy 0. o 3l P o Gloltgell 2t d by, dldB=__

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sinz:r -2 + coszx Ccos 2x
Let f(x)= (2 + sin’x cos” x cos2x |, x € [0, 7].
sinZ:r mszx 1+ cos2x

Then the maximum value of f(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0 Qiﬁﬂﬁ%ﬁi?ﬂ'ﬁf



sin’x ~2 + cos’x cos2x

4RL3 f(x) = [2 +sin®x  cos®x cos2x |, x € [0, 7].
sinx cos® x 1+ cos2x

dl f(x) -l 4y Bua 23,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let F: [3 5] - R be a twice differentiable function on (3, 5) such that

Fr)=¢™ E(Stz + 2t +AF ()L,

_ 0P - 224
@ -9

If F(4) then -+ is equal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
Qcollegedunia;



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4R F: 3, 5] - ROt el B84 (3,5) 9 oatl Fr) =e™ E(3t2 F2t+AF(B)dt. o
F(4)= o -4 A, dl ot =
-4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

D AA A = =+ A A -5 23 =
Let a=i+j+k band c =j-k be three vectors such that a x b = ¢ and

5 o - 5 o
a b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is/, then

the value of 3% is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1 ;
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R A U O e e N

Al a=i+j+k bl c=j-F 4B, wi g xp=c Ma b=l
S o a

i b LB a x o e doud 16, d3 4 e 3)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) = 10g4 (ng5(ng3 (181.‘ — xz — 77))) be (a! b)
Then the value of the integral

. 8

J;b sin” x P
(sin’x + sin®(a + b — x))

1s equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal B collegedunia



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Gl 5 [ey

f(x) =log, (1085(1083 (181? — 1% - 77))) AL Uzl (a, b) ©. dl Usd

f? sin’ x 4 .
h (sin’x +sind(a+ b-x) S AT .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. .
If Togs2, logs(2*~5), log, (2) = E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes :
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
3 ; [ 7 H o Y =, . !
o logs2, logs(2*-5), log, {2" = E] HHIAR %ltaﬂlll Cl4, dlx o 4™ o,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
x+y-z=2, x+2y+az=1, 20-y+z=p.
If the system has infinite solutions, then a+p is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Alzct(dls Ayl o 2 B 4L A2l e wls2el el gl dl ;
x+y—z=2, x+2y+toaz=1, 2x—y+z=p.

e Ue(drl i B3l €1, dl a+p =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LetS={1,2,3,4,5,6,7). Then the number of possible functions f: S = S such that

f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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QL5 S=1{1,2,3,4,5,6,7). A& m, n €S A mn e S UL f(mn)=fm)fn) g4 el 444
(A8l £S5 — S ol 3 0,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), ]{E{Uf %] is the solution of the differential equation

5ec y% - sin(x + y) - sin(x - y) =0, with y(0)=0, then Sy’G] is equal to .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A y=y) y e {Of g] o [ 2l secy% - sin(r + ) - siny - ) = 0 Gt 4, ol

y0)=0,dl 54%) - .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let f: [0, 3] - R be defined by

f(x)=minfx~[x], 1+[x] -x}

where [x] is the greatest integer less than or equal fo 1.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in
P and Q 1s equal to :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALY £:10, 3] = R f(x)=minfr[x], 1+ [x] -1} ¥ovot A0 4] 414 B, ondl ] 2L v
2420 x 4] et et el .

QRLS P28 1 e [0, 3] o il 9L B, ol Fteld 8, 4L Q @505 e (0, 3) L it 191,
ol f csttelt 2. ol P2t Q o sl oAl il 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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NATIONAL TESTING AGENCY 6
JEE (Main) Session - 3, 2021 FINAL ANSWER KEY ON WHICH RESULT COMPILED ON 06.08.2021

Exam Date : 27.07.2021 Exam Shift : First Course : B.E./B.Tech

QUESTION ID CORRECT OPTION ID QUESTION ID CORRECT OPTION ID  QUESTION ID CORRECT OPTION ID

(Physics ) ( Chemistry ) ( Mathematics )

86435118820 86435163042 86435118850 86435163134 86435118880 86435163223
86435118821 86435163047 86435118851 86435163135 86435118881 86435163228
86435118822 86435163049 86435118852 86435163142 86435118882 86435163232
86435118823 86435163053 86435118853 86435163145 86435118883 86435163234
86435118824 86435163057 86435118854 86435163148 86435118884 86435163238
86435118825 86435163062 86435118855 86435163153 86435118885 86435163242
86435118826 86435163065 86435118856 86435163155 86435118886 86435163246
86435118827 86435163072 86435118857 86435163161 86435118887 86435163251
86435118828 86435163074 86435118858 86435163165 86435118888 86435163255
86435118829 86435163078 86435118859 86435163168 86435118889 86435163257
86435118830 86435163082 86435118860 86435163173 86435118890 86435163264
86435118831 86435163088 86435118861 86435163176 86435118891 86435163265
86435118832 86435163091 86435118862 86435163179 86435118892 86435163269
86435118833 86435163094 86435118863 86435163184 86435118893 86435163274
86435118834 86435163098 86435118864 86435163187 86435118894 86435163277
86435118835 86435163103 86435118865 86435163191 86435118895 86435163283
86435118836 86435163106 86435118866 86435163197 86435118896 86435163287
86435118837 86435163110 86435118867 86435163202 86435118897 86435163291
86435118838 86435163113 86435118868 86435163203 86435118898 86435163294
86435118839 86435163120 86435118869 86435163208 86435118899 86435163297
86435118840 4 86435118870 5 86435118900 3
86435118841 8 86435118871 0 86435118901 6
86435118842 20 86435118872 31 86435118902 16
86435118843 25 86435118873 15 86435118903 2
86435118844 600 86435118874 1396 86435118904 1
86435118845 910 86435118875 12 86435118905 3
86435118846 150 86435118876 17 86435118906 5
86435118847 112 86435118877 2 86435118907 490
86435118848 3 86435118878 108 86435118908 2
86435118849 1 86435118879 19 86435118909 5
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